[N of reco track vs normalized x2 ]

N of associated (recoToSim) tracks vs normalized X?

N of associated (recoToSim) looper tracks vs normalized x*

6 8 10 12 14 16 18 20
track x?

9] 1%} 123 0
x x < x
[=} Q o (5]
g s g 8
) s 2 E
2 s 8107
=
=]
o
=] TTTFTTTH TTTHITTF e =] . S
3 L F | AN 3 || || s g AFT BT 3
o L EHH T A FHETT 14 O TR o ¥ L CHHEH FHTE 14
0. e LRI L 0. LG LR TR 0. L LU AT LU %
0 2 4 6 12 14 16 18 20 0 0 12 14 16 18 20 0 6 012 1 6 18 20
track x2 track x2 track x2
L L2
g g
E
£ s
o =]
3 s
14 o




	Contents
	Page 1


